
16  2011 Parts Catalog 

 
 
 
 

Visa / Mastercard / American Express / Discover 
$25.00 Minimum Order ------ Prices and quantities subject to change / all prices are FOB FACTORY ------ Priced in U.S. Dollars 

20% minimum restocking charge applies on returns 

SLIMMATE™ FOREARM 

 



2011 Parts Catalog 17 
 

 

Consult Your Area Manager at: 
 Tel:  1‐800‐883‐1123 (US & Canada)   Fax:  1‐800‐328‐3334 (US & Canada) 

Web Site:  www.satelliteindustries.com 

SLIMMATE FOREARM 
REV C 
ITEM # 

 
PART#  QTY DESCRIPTION PRICE EACH 

1  1 BASIN, SLIMMATE II FORARM  NOT SALEABLE 
 20627 1 BASIN ASSY- FORM SLIMM II GREY  

2 12588 1 CLAMP- WORMDRIVE #12  
3 16392 37.50" HOSE- 3/4 LOW PRESSURE  
4 16113 1 MOUNT PLATE- SLIMMATE II PUMP  
5 17079 1 NOZZLE- HOODED GREY  
6 20576 1 PLUG- 3/4 EXPANDING W/TETHER  
7 16305 1 PUMP- BABY FOOT 3/8 HOSE INS  
8* 15144 4 RIVET- #410 ALUM  
9 14427 4 RIVET- #66 LSH W/LOCK MANDREL  

10* 16393 2 SCREW- #10 X 1/2 HI-LO PHPN  
11 20623 1 TANK- SLIMMATE II GREY  
12 11261 1 TIE- WIRE 6in  
13 16302 1 TS FITTING- 3/8 HOS X NPTF  
14 16656 1 TS FITTING- 90DEG 3/8 HOSxHOS  
15 16301 1 TS FITTING- 90DEG 3/8 HOSxNPTF  
16 16304 68" TS HOSE- 3/8 OD TUBING  
17* 11384 4 WASHER- 1/8 RIVET STNLS  
18 13439 1 BOLT- 1/4-20 X 1 ELEVTR STNLS  
19 16644 1 BRACKET- SLIMMATE II MOUNTING  
20 16364 1 INSTRUCTIONS, SLIMMATE II  
21* 15469 1 NUT- 1/4-20 STNLS  
22 13440 1 NUT- 1/4-20 WING TYPE A STNLS  
23* 12393 2 RIVET- #64 AAP POP  
24* 15340 1 WASHER- 1/4 STAR STNLS  
25* 11315 2 WASHER- 3/16 RIVET STNLS  
26* 11368 1 WASHER- 5/16 FLAT STNLS  

 20508 1 BOOT - BABY FOOT PUMP  
* ONLY SOLD IN MULTIPLES OF100  

 

TUFWAY MIRROR 
 

 

 
 

REV F 
ITEM # PART# QTY PER 

UNIT DESCRIPTION PRICE EACH 

  17378   KIT- MIRROR 4 X 6 STNLS  
 


